11- alfred tennyson died in …..
a) 1894
b) 1893
c) 1892
d) 1895

12- “the tyger” is a poem made of questions . there are no less than …. Question marks.
a) fifteen
b) fourteen
c) twelve
d) thirteen

13- black is one of the prominent figures of the ….
a) roman age
b) modern age
c) romantic age
d) Victorian age

14- an example of metaphore in “ the tiger” is …
a) comparison of the tiger and is eyes to the lion
b) comparison of the tiger and is eyes to fire
c) comparison of the tiger to ice
d) comparison of the tiger and is eyes to the rainbow

15- to the poet , the skylark is not a bird but…
a) a planet
b) a mother
c) a plane
d) a spirit




